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2.05532 | 1.52766 | 1.024663292 | 0.887436582
2.05534 | 1.52767 | 1.024672675 | 0.887437133
2.05536 | 1.52768 | 1.024682058 | 0.887437683
2.05538 | 1.52769 | 1.024691442 | 0.887438234
2.0554 | 1.5277 | 1.024700826 | 0.887438785
2.05542 | 1.52771 | 1.024710211 | 0.887439336
2.05544 | 1.52772 | 1.024719596 | 0.887439887
2.05546 | 1.52773 | 1.024728981 | 0.887440438
2.05548 | 1.52774 | 1.024738366 | 0.887440989
2.0555 | 1.52775 | 1.024747752 | 0.88744154

2.05552 | 1.52776 | 1.024757139 | 0.887442091
2.05554 | 1.52777 | 1.024766525 | 0.887442643
2.05556 | 1.52778 | 1.024775912 | 0.887443194
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2.0556 | 1.5278 | 1.024794687 | 0.887444297
2.05562 | 1.52781 | 1.024804075 | 0.887444849
2.05564 | 1.52782 | 1.024813463 | 0.887445401
2.05566 | 1.52783 | 1.024822852 | 0.887445953
2.05568 | 1.52784 | 1.024832241 | 0.887446505
2.0557 | 1.52785 | 1.02484163 | 0.887447057
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